ZERO BACKLASH FOR SERVO COUPLING

HOLE SIZE (mm) @4 ~ 35
AMEIs2E (°0) -30 ~ +70
SA: 0.02
DA: 0.05~0.52
SA: 1°
DA: 0.5~1(Fr )

SA: £0.05~+0.55
DA: #0.1~%1.1

NIFC-LILISA

1gg
8280|310 =e
X017} 7bSTLIE
2f4/7F ZERO
pSELPS

Clamp Bolt: 17 Bolt

Element A& #2325 SUS304
oA G

M
(e}

Bolt Aj&: 412
Clamp Hub A&: A70750}=t}o]%

NIFC-OODA

Clamp Bolt: 17%%= Bolt

Element A&: #2259 SUS304 <}
s G

Bolt A& E55a31
Clamp Hub #&: A70750=t}o]%

BMIFC-LLSA-BC

Clamp Bolt: 17% Bolt

Element A2 T2 SUS304 244
- G

Bolt A: 54:5=57)2] Taper o} Bolt A Sea=z]
S SA5C S0IXMA Clamp Hub A& A70750h=r}e]7




ZERO BACKLASH FOR SERVO COUPLING €) IFCA2|=

[FC-LILIDA

IFC A|2| = o000
«Clamping Hube #1552l Zshar
SHaAEHA Soll AAG YT A 22 Bolt 171
2 o]Fojx|H A ZAH L coupling?] FEE
23 o]yt
SUST 23] 0 2 F x| o] Aajdo] 713
o}
MOTORe| A 243l &8 BALL SCREWS-¢] A
o AauE=dS 2kt

e

Bolt 240 % FAAS 4l&sA &

T ATt Fe] AL 2719

Clamping Bolt= <2+ 3}

ZHAP YT A EE 2709
Wlsalol 2R} oFalA) ekrieh)
W] Bl 82T g

IFC-LILISA-BC

SYC-OOSA-BCTYPES .=
SERVOMOTOR®] TAPERF ]| &=
ghgl s



IR ESIN 6N 7ERO BACKLASH FOR SERVO COUPLING

&5 (IFC-SA)

IFC-010SA 1 0.02 1 +0.1 10000 220 140 C 0.75X10-6 14

IFC-020SA 1.5 0.02 1 +0.01 10000 1600 64 © 2.45X10-6 25

A 3.80%10-6 31

IFC-030SA 4 0.02 1 +0.2 10000 3200 64 B 5.99X10-6 40

C 8.16X10-6 50

IFC-035SA 7 0.02 1 +0.25 10000 7000 90 © 18X10-6 80

A 15.5X10-6 70

IFC-040SA 10 0.02 1 +0.3 10000 8800 80 B 22.6X10-6 90

© 29.7X10-6 110

A 50.6%10-6 150

IFC-050SA 25 0.02 1 +0.4 10000 18000 48 B 75.4%X10-6 180

© 100 X10-6 220

A 131.6X10-6 | 260

IFC-060SA 60 0.02 1 +0.45 10000 36000 76.4 B 199.6X10-6 | 330

© 267.7<10-6 | 400

IFC-080SA 100 0.02 1 +0.55 10000 52800 54.8 © 736.5X10-6 | 750

IFC-090SA 180 0.02 1 +1.2 10000 170000 122 C 1160x10-6 | 1130

IFC-100SA 250 0.02 1 *+1.4 10000 250000 160 © 1160x10-6 | 1280
FZ(IFC-SA)

[FC-010SA 19 - 120.3 9 2.3] - [6.5 |3.3]2-M2.5 1.0 © 4 8 4 8

[FC-020SA 26 - 23.5[10.5| 2.5 - 9.5 |13.5[|2-M2.5 1.0 © ® 10 5 10

- A 4 10 4 10

IFC-030SA | 34 22 27 12 | 3.1 - |13.5]| 4 2-M3 1.5 B 4 10 11 14

- 8 [12.5 © 11 14 11 14

IFC-035SA 39 - |31.35]13.5]14.35| - [13.5]4.5| 2-M4 3.0 C 8 16 8 16

30 11 - A 6 15 6 15

[FC-040SA | 44 34.5| 15 | 4.6 | 11 16 5 2-M4 3.4 B 6 15 16 19

- - 16 © 16 19 16 19

33 14.5| - A 8 19 8 19

IFC-050SA | 56 45.5| 20 | 5.4 |14.5] 21 7 2-M5 7.0 B 8 19 20 25

- - 21 C 20 25 20 28

46 17.5] - A 10 20 10 20

IFC-060SA | 68 54.5| 24 |6.5[17.5] 25 8 2-M6 14 B 10 20 21 30

= = 28 C 21 30 21 30

[FC-080SA 83 = 68 30 8 = 28 9 2-M8 30 C 20 35 20 SI5)

[IFC-090SA | 94 = 68 30 8 = 34 9 2-M8 30 C 28 40 25 40

[FC-100SA | 104 = 70 30 10 - 39 9 2-M8 30 © 28 45 25 45

A2

N
Al
d1
‘ |
|
|
T
—
i
|
]
| -
ddE‘
1
¢D
¢N
Al
d1
|
|
|
™
‘\
!
|
¢d?
¢D
¢ d1
T
\
!
|
éd2
éD




/ERO BACKLASH FOR SERVO COUPLING

A S(IFC-DA)

IFC A|2|=

|18 HEE HEZZA HIS2lztA T REIE
[min'] [N-m/rad] [N-m/rad] [kg-m?2]
IFC-010DA 1 0.10 1 +0.2 10000 170 70 C 1.0x10-6 19
IFC-020DA 1.5 0.15 1 +0.33 10000 1000 32 C 3.41X10-6 5
A 6.93X10-6 50
IFC-030DA 4 0.17 1 +0.4 10000 2100 32 B 9.1X10-6 58
C 11.3%X10-6 67
IFC-035DA 7 0.23 1 +0.5 10000 4000 50 C 30.3%10-6 140
A 27.5x10-6 113
IFC-040DA 10 0.23 1 +0.6 10000 5300 40 B 34.6X10-6 130
C 41.7%10-6 146
A 86.6X10-6 222
IFC-050DA 25 0.24 1 +0.8 10000 10800 24 B 111.3%X10-6 256
C 136.1 X10-6 290
A 230.9%10-6 400
IFC-060DA 60 0.31 1 +0.9 10000 22800 38.2 B 298.9x10-6 470
C 366.9x10-6 540
IFC-080DA 100 0.52 1 10000 37800 27.4 C 1070<10-6 1080
IFC-090DA 180 0.50 1 i 10000 85000 61 C 1070%<10-6 1200
IFC-100DA 250 0.50 1 + 10000 125000 80 C 1070x10-6 1450

M AAEL S Nm)

[FC-010DA 19 - | 276 9 5 2.3 - 6.5 3.3 | 2-M2.5 1.0 C 4 8 4 8
IFC-020DA 26 - | 315 | 105 | 6 2.5 - 9.5 3.5 [ 2-M2.5 1.0 C 5 10 5 10
5 8 - A 4 10 4 10

IFC-030DA 34 37.2 12 7 3.1 8 12.5 4 2-M3 1.5 B 4 10 11 14
- - 12.5 C 11 14 11 14

IFC-035DA 39 - | 477 | 135 | 12 | 4.35 - 13.5 4.5 2-M4 3.0 C 16 8 16
11 - A 6 15 6 15

IFC-040DA 44 50 48 15 9 4.6 11 16 5 2-M4 3.4 B 6 15 16 19
= - 16 C 16 19 16 19

14.5 - A 8 19 8 19

IFC-050DA 56 o 62 20 11| 5.4 14.5 21 7 2-M5 7.0 B 8 19 20 25
= - 21 © 20 25 20 25

17.5 - A 10 20 10 20

IFC-060DA 68 16 75 24 14| 6.5 17.5 25 8 2-M6 14 B 10 20 21 30
- - 25 © 21 30 21 30

IFC-080DA 83 = 98 30 22 8 - 28 9 2-M8 30 C 20 59 20 35
IFC-090DA 94 = 98 30 22 8 - 34 9 2-M8 30 C 25 40 28 40
IFC-100DA 104 = 98 30 22 10 - 39 9 2-M8 30 C 25 45 28 45

¢

4d?

[

0D

LN

]

4d2

¢D

M

)m




[JoRNSIEIESIN6Y  7ERO BACKLASH FOR SERVO COUPLING

=3

= O EH
T ™ od

WA : d1-d2
B : Clamping Type
hd

: @TOXSTD- (10B) - (10B)

SIZE MODEL : SA = SINGLE ELEMENT
DA - DOUBLE ELEMENT

L B

M

H

IFC-010SA/DA]

IFC-020SA/DA

IRC-030SA/DA|

O|O |0 | @
O|0O| @ | @
ONIN NN BN J

IFC-035SA/DA

ol
OXNONN N BN
SR BE BE BK
O | @ | @®|O
| ® | @& |O

IFC-040SA/DA

O|l® | @& | @& O
® o o o

IFC-050SA/DA

Ol ® @& @& @
O @® | @ | e
OO |O |O
O ® | @ | e

IFC-060SA/DA|

IRC-080SA/DA|

IFC-090SA/DA|

IFC-100SA/DA|

® O

~elO |®]O

=<~

el

I
Bl N
FN 2

2R
=



ZERO BACKLASH FOR SERVO COUPLING €) IFCA2|=

2|5 2224t Edpnl
2t SHEE
[min-1]
IFC-050SA-[JB-11BC 81 X 10°6 243
IFC-050SA-[JB-14BC 25 0.02 1 +0.4 10000 107 X 1076 283
IFC-050SA-[1B-16BC 219 X 106 460
IFC-060SA-[JB-16BC 60 0.02 1 +0.45 10000 287 X 1076 530
IFC-050DA-[1B-11BC 119 X 1076 315
IFC-050DA-0B-14BC 25 0.24 1O () +0.8 10000 149 X 1076 354
IFC-050DA-[0B-16BC 318 X 1076 600
IFC-060DA-0B-16BC 60 0.31 1O +0.9 10000 395 X 106 680
T Z(FC-SA/DA-BC) e =
dl L
3 A 2429 D 116al4ndhead ILC LF LP S C A1 A M
IFC-050SA-[IB-11BC W dl
] R B Clamp

IFC-050SA-[1B-14BC| 8 | 25 | 56| 555|555 655(455( 20| — [ 3| 7 (210 21 [2-Mb5
IFC-050SA-[CB-16BC

IFC-060SA-[B-16BC| 10| 30 |68 - | - | 705|545 24| - | 4| 8 |175] 25 |2\ - _ - @
SIZE

IFC-050DA-[IB-11BC

IFC-050DA-[IB-14BC| 8 | 25 56| 72| 72| 82 62| 20| 11| 3| 7 [145 21 |2-M5
SA - Single
DA - Double

[FC-050DA-[1B-16BC Taper Adapter

IFC-060DA-CJB-16BC| 10| 30 |68| - | — [ 91| 75| 24| 14| 4| 8 |175] 25 [2-M6

TAPER ADAPTER 2t 14 EZI'_SLH%:J -dl

W7 TaperZ |11 12/ 14 15 16/18 19 20/ 22| 24| 25/ 28| 30

5 11c| |e|o|le|o|le|o|e|e@|0|0

11C 4 12.2 25 16 17 °lrc-ososamal 14c | |@|o|@|o|@|o]| @@ 0|0

14C 4 151 25 19 22 . 16C elolelole|loelelolO

16C 5 173 25 29 % “rc-os0sa/mal 16C el0|0|e|e|l0O|0O|e|0|@®
Ol O NhEE

SYS-DA-BC SYS-SA-BC

L L
Lc
Lc
LF ‘—_jLF
LA LA M
B il '
~ [
- ol
s, 1 r s |
== < a
<| <« o - B) N |
_ kI S
S 1
L__ 1 | Fm—=—1
L —
o I i @ TYPE B —| L
T™PE B~ Lf —
TVPE C TYPE C - e
. b O TAPERI/10

IFC-0O00SA-0O0B-0O0BC



2|
]

#

1]

RIGID COUPLING

AP

Al
a

ol

IK-63-35-25
IK-63-25-35
IK-63-35-28
IK-63-28-35
IK-63-35-30
IK-63-30-35
IK-63-35-32
IK-63-32-35
IK-63-35-35
IKC-63-25-35
IKC-63-28-35
IKC-63-30-35
IKC-63-32-35
IKC-63-35-35

2|4

52E3
[N-m]

200
200
230
230
240
240
260
260
280
200
230
240
260
280

4
IK-63-35-25
IK-63-25-35
IK-63-35-28
IK-63-28-35
IK-63-35-30
IK-63-30-35
IK-63-35-32
IK-63-32-35
IK-63-35-35

IKC-63-25-35
IKC-63-28-35
IKC-63-30-35
IKC-63-32-35
IKC-63-35-35

5|& THRUST
[N]

16000
16000
16000
16000
16000
16000
16000
16000
16000
16000
16000
16000
16000
16000

HISE 2

[ 11 3%

IK
d1 d2
35 25
25 35
35 28
28 35
35 30
30 35
35 32
32 35
35 35
25 35
28 35
30 35
32 35
35 35

F2 Al

[N - m/rad] [min]
250000 12500
250000 12500
280000 12500
280000 12500
300000 12500
300000 12500
320000 12500
320000 12500
350000 12500
250000 12500
280000 12500
300000 12500
320000 12500
350000 12500
%I” =

L L1
56 61
56 61
56 61
56 61
56 61
56 61
56 61
56 61
56 61
56 -
56 -
56 -
56 -
56 -
IKC-63-3525

Z| D3| MEE

L2

66
66
66
66
66

ZETHE
[kg - m?]

6.67 X 10
6.67 X 10
6.64 X 10
6.64 X 10
6.62 X 10
6.62 X 10
6.60 X 10
6.60 X 10
6.54 X 10
6.78 X 10
6.74 X 10
6.72 X 10*
6.69 X 10
6.64 X 10

63
63
63
63
63
63
63
63
63
63
63
63
63

KA (mm) : d1-d2

Ad E3
[N-m]

17.7
17.7
17.7
17.7
17.7
17.7
17.7
17.7
17.7
17.7
17.7
17.7
17.7
17.7

uy
[ka]

1.02
1.02
1.00
1.00
0.99
0.99
0.97
0.97
0.94
1.03
1.02
1.00
0.98
0.98

D2
68
68
68
68
68
68
68
68
68
68
68
68
68
68

HE=2E
4-M6X55
4-M6X55
4-M6X55
4-M6X55
4-M6X55
4-M6X55
4-M6X55
4-M6X55
4-M6X55
8-M6X35
8-M6X35
8-M6X35
8-M6X35
8-M6X35



I2
4>
|
X o
u

ot |o

=
4

M

um

S o N
U o> i

kI mo om
4n |0 1®

0x M rir
0x M
O ol rm

HUB (A7075-76)

2 H ox 1E
o

iy 0 o
N

om 0

ac
M

X-Y HOlZ2 2%
HE2H SEIA

T2 Alof

Q= 7|A
ME 2
#5571 9 IUC-40- 18-18

o3 [ LHZ: d1-d2

g A W7 (dl, d2)
IUC-20 4,5,6,6.35, 7,8

[IUC-25 5, 6,6.35, 7,8, 10, 11, 12

[UC-30 6,6.35,7,8,9, 10, 11, 12, 14, 15

[UC-40 10, 12, 14, 15, 16, 18, 19, 20

IUC-55 12, 14, 15, 16, 18, 19, 20, 24, 25, 28

[IUC-65 12, 14, 15, 16, 18, 19, 20, 24, 25, 28, 30

IUC-80 15, 18, 20, 24, 25, 28, 30, 32, 35, 40




HEZZY THZUE SY 223
[N-m/rad] [kg.m?] [9] | [max/rpm]
1UC-20 5 10 29 1.0X1076 0.1 1 +0.8 18 15000
1UC-25 9 18 45 2.4X1076 0.1 1 +1.0 25 12000
IUC-30 10 20 73 5.9X10°6 0.1 1 +1.0 46 10000
IUC-40 15 30 570 3.1X10°5 0.1 1 +1.5 | 125 8000
IUC-55 60 120 1600 1.7X107* 0.1 1 +1.5 | 350 7000
[UC-65 160 320 3000 3.9X104 0.1 1 +1.5 570 6000
IUC-80 320 640 6500 1.1X1073 0.1 1 +2.0 |1150| 4500
FA(IUCOO)
L 20| L3 HUB  ELEMENT ({ZE2E
- (L di L1, L2 (2) (M)
[UC-20 20 30 4~8 4~8 10 8 M3
[UC-25 5, 32 5~10 5~10 10 9 M4
[UC-30 30 35 6~14 6~14 11.5 10 M4
IUC-40 40 55 8~18 8~18 20 12 M5
IUC-55 55 78 10~20 10~20 30 14 M6
IUC-65 65 90 12~30 12~30 35 15 M8
IUC-80 80 114 15~40 15~40 45 18 M8
M ]
\H! 1 7
L H
SO L
- ¥ 1| i YT
1 J L L2
|

WC=66~0





